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Description Figure ANOVA Factors SS DF |MS F (DFn, DFd) P value
- Frequency 1148 [4 2.87 F(1.551,18.61) = 19.16 0.0001
Acute VEH: C57BL/6J male (vet )
v:f/‘;) male (veh | g 1A [Treaument 00834 1 0.0434__|F (1.000, 12.00) = 0.5896 0.4574
Frequency x Treatment 0.1914 4 0.04784 |F (1.144,13.73) = 0.5730 0.4842
) Frequency 3.64 4 09099 |F (1.645, 19.74 0.0001
Acute VEH: C57BL/6J male (veh |
V:E;e“ne) male (vel Fig. 1-1A  [Treatment 02267 |1 0.2267 __|F (1,000, 12.00) = 3.690 0.0788
C Frequency x Treatment 3.64 4 0.9099 F (1.645, 19.74) = 19.94 0.0001
o Frequency 3.858 4 0.9644 F(1.137,11.37)=2.913 0.1122
i\:;fh};tOH' CSTBL/6I male (veh | o 16 [Treatment 06475 [1 0.6475__|F (1.000, 10.00) = 13.37 0.0044
Frequency x Treatment 0.01328 |4 0.003319 [F (1.237, 12.37) = 0.07865 0.8345
; Frequency 0.08763__|4 0.02191_|F (1.269, 6.345) = 0.1491 0.7695
Acute VEH: C57BL/6] femal )
(v;‘;lis vl CSTBLI6] female Fig. 1-1B  [Treatment 0.002078 |1 0.002078 |F (1.000, 5.000) = 0.08908 0.7774
Frequency x Treatment 0.03402 |4 0.008506 |F (1.097, 5.484) = 0.4288 0.5572
. Frequency 00443 |4 0.01107 _|F (1.198, 5.990) = 0.2681 0.6643
Acute VEH: C57BL/6] femal )
(Vce:: is bencline) emale Fig. 1-1B  [Treatment 00391 __[1 0.0391 __|F (1.000, 5.000) = 1.264 0312
Frequency x Treatment 0.0443 4 0.01107 _|F (1.198, 5.990) = 0.2681 0.6643
] N Frequency 3145 |4 0.7861__|F (1153, 8.069) = 7.026 0.0263
Acute EtOH: C57BL/6] femal )
(;‘}’1 °v§ ok cmaie Fig. IH  [Treatment 04585 |1 0.4585__|F (1,000, 7.000) = 18.34 0.0036
i Frequency x Treatment 1.307 4 0.3268 F (1.669, 11.68) = 12.78 0.0016
L~ . Frequency 1.981 4 0.4952 F (1.237, 8.660) = 10.86 0.0077
gii‘fyfg(;:zl'incj)m” 6 female Fig. 1H  [Treatment 0.1065___[1 0.1065__|F (1.000, 7.000) = 6.002 0.0441
Frequency x Treatment 1.981 4 0.4952 F (1.237, 8.660) = 10.86 0.0077
Dose F (1401, 9.809) = 1.016 0368
Dose Response 2-5 Hz: CS7BL/ ) .
ose esplonb(e hs , Zt Ch§7 /9| Fig 128 [Treatment F (1,000, 7.000) = 0.002624 | _ 0.9606
males (veh vs eto Dose x Treatment F (1.710,6.271) = 4.001 0.0794
o Dose T (1088, 7.616) = 0.6231 04671
c 5'73;:_7 6';“",‘{"?‘; 6 }: 2 Hzt p | Fie12C  [Treament F (1.000, 7.000) = 28.55 0.0011
mates (veh vs eto’ Dose x Treatment F (1.860, 6.819) = 2.086 0.1963
o Dose F (2061, 14.43) = 1.044 03794
Cgﬁi:fi‘:{:‘lI,thqulZ(;h) Fig. 1-2D  [Treatment mixed model analysis F (1.000, 7.000) = 93.64 <0.0001
- S (veh vs Dose x Treatment F (1.197, 4.390) = 6.050 0.0618
- Dose F (2.402, 16.81) = 10.38 0.0007
c 52;’;5 /lgfiﬁ:f:: (igh?sllz‘;h) Fig. 1-2E  [Treatment F (1.000, 7.000) = 68.52 <0.0001
Dose x Treatment F (1.744, 6.394) = 9.131 0.0147
Dose T (0.8643, 6.050) = 4.056 0.0925
Dose Response 80-120 Hz: ) 2
c 5;’;1 ) ;;p‘“;“ (80 N VO 1Zh) Fig. 1-2F  [Treatment F (1,000, 7.000) = 23.64 0.0018
majes (veh vs elo Dose x Treatment F(1.114, 4.084) = 4.509 0.0987





